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GENE- GENE INTERACTIONS: STORYBOARDING EPISTASIS
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HERC
OCA2

OCA gene
Making melanin is complicated! The HERC gene controls the making of pigment in the OCA gene
Epistasis of Eye Color Genes in Humans…
3 genes (OCA, HERC, & GEY)…so far
Lots of variation!!
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Cross  Bbgg x bbgg


	BGbg
	Bbgg
	bbGg
	bbgg

	BbGg
	Bbgg
	bbGg
	bbgg

	BbGg
	Bbgg
	bbGg
	bbgg

	BbGg
	Bbgg
	Bbgg
	bbgg



bBB = Brown eyes
Bb=Brown eyes
bb=blue eyes
GG=Green eyes
Gg=Green eyes
gg=blue eyes
How many Brown eyes, green- eyed and blue- eyed children would you have?

Eye color is the result of varying amounts of melanin.  
There are 2 types: Eumelanin and Pheomelanin
The OCA gene has two versions, one makes Brown eyes (B),
The other makes Blue eyes (b).  The HERC gene starts up the making of melanin. If it doesn’t work you get ALBINISM. Another gene the GEY gene is on chromosome 19. It also has two versions, one makes Green (G), the other makes blue (g).  All of these genes interact with each other and many more. This is Epistasis. So eye color can have lots of variations!  Sometimes all it takes is a small change in DNA from C to T.
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